F(x, y(X), Ay(x), A2y(X),+- A"y (X)) = g(x)

g(x)=0 =
g(x)=0 =

y(x+1)-ay(x)=0

y(x+1) = ay (x)

= x=0 , y(@)=ay(0)

x=1 , y(2)=ay(1)=aay (0)=a”y(0)
x=2 , y(@3)=ay(2)=aa’y(0)=a’y(0)

y(x) =a’y(0)
y(x)=ca”




() y(x+1)-y(x)=0Db
y(x+1)=y(x)+Db

x=0 , y(O=y(0)+b
x=1 , y(2)=y@Q)+b=y(0)+2Db

x=2 , y3)=y(2)+b=y(0)+3b

y(x)=y(0)+ xb

) y(x+1) - A(X)y(x)
y(x+1) = A(X) y(X)
K=0 y@)=A(0)y(0)
=1 y(2)= AQ)y() = A)A(0)y(0)
x=2 y(3) = A2)y(2) = AQ2) A A(0)y (0)
y(x) = A(x ~1)A(x - 2)- A1) A(0) y (0)
= y(o)ﬁ: A i)

A(x —1)A(Xx —2) --A(L)A(0) = H A (i)



() y(x+D)-y(x)=B(x)

y(x+1) = y(x)+B(x)
0 . y®=y(0)+B(0)

y(2) = y(@)+B() = y(0) + B(0) + B(I)
Y =y(2)+B(2) = y(0)+B(0)+ B(1) + B(2)

y(x)=y(0)+B(0)+B(@)+---+ B(x—2)+ B(x—-1)
~y(0)+ Y B()

B(0)+ B(1)+-+B(x-2)+B(x-1)= ¥ B(i)

y(x+1)—ay(x) =b*P,(x)
y(x)=ca” +y"(x)

y (x) =b"Q,(x) (b=a)
y (x) =b"xQ,(x) (b=a)

P (x)=6X"+3x"" +---+2x -7

J(X)=2x" =5X"t 4. —4x+3




y(x+1)-3y(x)=2x-5

y(x+1)—3y(x)=0
y(x)=c3"+y*(x)

y*(x) =k, x+Kk, k, k, =
y(x)=c3"+k,x+Kk,

y(x+1)—3y(x)=c3*" +k,(x+1)+k, —3(c3X +k X+ kz)

-2k, x+k; =2k, =2x-5 2k = 2X
ky=-1, k=2 k, -2k, =5

y(x)=c¢c3"—x+2

5 y(x+1)-3y(x)=3"
x=0 y(0)=2

=

y(x)=0c3"+k, 3"x b=3, p,(x)=1
c3** +k, 3" (x+1)-3c3* - 3k,3*x = 3"
c3+k,3(x+1)-3c-3k,x=1  [g

y(x)=c3*+3""x

y(0)=2=¢3°+37"0
y(x)=2 3*+3**'x




2
y(x+2)+ay(x+1)+by(x)=0
Y(X) = C/1X y(X-I-l) ZCﬂ,Xﬂ y(X+2):C/1X+2

C/’LX+2+aC/1X+1+bC/'LX :O

A2 A%+dl=D) = 0

A 2 __aim
y(x+1)—ay(x) =0

y y(x) =ca”

y(X+2)+ay(x+1)+by(x)=0

(1) 4,4, 22 > 4b

y(x)=c A +c, 4

2




“”’ y(x+2)+ay(x+1)+by(x)=0
- (2) a% <4b

X)=C X+C ﬂX i
y(X)=CA +C4, e — cosg+ising

A, =re'’ =r(cosd+ising)
A, =re”? =r(cosf—isind)

e'?* = cos(gx)+i sin(¢x)
y(x) = c,r*[cos(ek)+isin(&x )]+ c,r*[cos(ek)—i sin( &k )]
=(cy +¢, )r* cos(ék)+i(c, —c, )r* sin(éx)

y(x) = c,r* cos(6k)+ c,r* sin(éx)

y(x)=c 4} +¢, ‘ 2 —»

y(X)=c 4 +c x4




o 2
] y(x+2)+ay(x+1)+by(x)=a*P,(x)

y(X) =CA +Cohp + ' Q, (%)

(A=A A z2a,d, #a)

Y(X) = C.A +C,2; + 41 XQ, (X)

(4 A, =a)

Y(X)=CA +Cx 4 +a"X°Q;(X)

(/11:/12:05)

y(x+2)=y(x+1)+y(x)
y(0)=0, y(1)=1
y(x+2)-y(x+1)-y(x)=0

A2 -21-1=0 y(x) =cA”

_1%45




y(x+2)=y(x+1)+y(x)

Af(x)= f(x+h)= f(x)

Vi(x)= f(x)= f(x—h)




Ef (x)= f(x+h)
E"f(x)= f(x+nh)

ut (x) =

Df (x):%f(x): f'(x)

Af(x)= f(x+h)= f(x)

=Ef (x)- f(x)
=(E-1)f(x)

A=E-1
E=1+A




=f(x+h)
= f(x)
+h1”(x)+E
o f'(x)+--

=f(x)+
h
Df(x)+h—2
2! D*f(x)+

=11
{+hD+hZ
2!D2+- }
o | T A
X)

=e™ f(x)




(1) 25-32  (2) ¥ 3 @

1) y(x+1)-5y(x)=2 5 +3x
3y(x+2)+5y(x+1)—2y(x)=1+4x
y(x+2)-2y(x+1)-3y(x)=2 3*+x+6
y(x+2)-3y(x)-3"2=2x*-3




